BID	TAB	ULA	ATIC	NC	FO	R:
-----	-----	-----	------	----	----	----

BID OPENING DATE:

TABULATION BY:

BID OPENING LOCATION:

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION,

PHASE 4

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY

CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS

AUGUST 26, 2025

LJA ENGINEERING, INC.

S.BOOTH 8/26/2025

 TABULATION DATE:
 8/26/2025

 LJA JOB NO.
 NTD720-0083

BIDDER NAME	BASE BID	PROPOSED DURATION (DAYS)	Contractor Schedule
1) ACADIA SERVICES LLC	\$1,073,968.00	50 \ 15	9/15/2025
2) EIII UNDERGROUND, LLC	\$1,092,636.08	45 \ 20	11/24/2025
3) BLUE STAR UTILITIES, LLC	\$1,100,000.00	70 \ 15	10/2025
4) BCAC UNDERGROUND	\$1,188,565.50	50 \ 15	10/2025
5) BURNSCO CONSTRUCTION, INC.	\$1,246,084.50	75 \ 25	10/2025
6) PCI CONSTRUCTION	\$1,335,897.60	90 \ 24	NOT PROVIDED

I, Michelle Tilotta, P.E., hereby certify these bid tabulations to be true and correct.



CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION, PHASE 4

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS AUGUST 26, 2025

LJA ENGINEERING, INC.
S.BOOTH
8/26/2025

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) ACADIA	A SERVICES LLC	2) EIII UND	ERGROUND, LLC	3) BLUE STAR	UTILITIES, LLC
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM:								
1. 8" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES,	LF	3600	\$41.00	\$147,600.00	\$45.84	\$165,024.00	\$50.00	\$180,000.00
FITTINGS, PLUGS, BEDDING, ETC.) 2. 8" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS,	EA	11	\$2,766.00	\$30,426.00	\$2,411.25	¢26 F22 7F	\$2,399.00	\$26,389.00
ETC.)	EA	11	\$2,700.00	\$30,426.00	\$2,411.25	\$26,523.75	\$2,399.00	\$20,389.00
3. 1" SINGLE WATER SERVICE (SHORT SIDE)	EA	48	\$1,234.00	\$59,232.00	\$796.26	\$38,220.48	\$809.00	\$38,832.00
4. 1" SINGLE WATER SERVICE (LONG SIDE)	EA	45	\$1,272.00	\$57,240.00	\$961.69	\$43,276.05	\$1,154.00	\$51,930.00
5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX)	EA	9	\$7,562.00	\$68,058.00	\$8,906.25	\$80,156.25	\$7,927.00	\$71,343.00
6. 2" IRRIGATION WATER SERVICE	EA	2	\$2,283.00	\$4,566.00	\$1,934.00	\$3,868.00	\$2,169.00	\$4,338.00
7. CONNECT TO EXISTING 8" WATERMAIN	EA	4	\$2,988.00	\$11,952.00	\$514. 5 0	\$2,058.00	\$1,386.00	\$5,544.00
8. TRENCH SAFETY	LF	3600	\$1.00	\$3,600.00	\$0.79	\$2,844.00	\$0.25	\$900.00
9. PRESSURE TESTING AND CHLORINATION	LF	3600	\$1.00	\$3,600.00	\$1.19	\$4,284.00	\$1.50	\$5,400.00
SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM:				\$386,274.00	4	\$366,254.53		\$384,676.00
BASE BID SECTION B - PHASE 4 - SANITARY SEWER SYSTEM:								
1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION,	LF	547	\$48.00	\$26,256.00	\$67.43	\$36,884.21	\$79.00	\$43,213.00
EMBEDMENT, BACKFILL, ETC.)		3.,	ŷ 10.00	Ų20,230.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	φοσ,σο	ψ, 3.00	Ų 15,215.00
2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION,	LF	1406	\$43.00	\$60,458.00	\$64.92	\$91,277.52	\$62.00	\$87,172.00
EMBEDMENT, BACKFILL, ETC.)			,			,	,	, , , , , , , , , , , , , , , , , , , ,
3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE	LF	20	\$155.00	\$3,100.00	\$112.21	\$2,244.20	\$137.00	\$2,740.00
4. 4.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL,	EA	5	\$5,000.00	\$25,000.00	\$6,857.50	\$34,287.50	\$5,666.00	\$28,330.00
MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM,								
RAIN PAN. ETC.)								
5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL,	EA	1	\$9,688.00	\$9,688.00	\$11,129.50	\$11,129.50	\$11,093.00	\$11,093.00
MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM,								
RAIN PAN. ETC.)								
6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95'	EA	1	\$1,487.00	\$1,487.00	\$775.25	\$775.25	\$1,701.00	\$1,701.00
							4	
7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS,	EA	61	\$1,432.00	\$87,352.00	\$870.23	\$53,084.03	\$1,282.00	\$78,202.00
INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, ETC.)	F.4	22	\$2,002.00	¢64.064.00	ć02C 42	¢20.626.46	ć1 441 00	¢46 442 00
8. CONNECT TO EXISTING WYE 4" P.V.C. WASTEWATER SERVICE LINES, ASTM	EA	32	\$2,002.00	\$64,064.00	\$926.13	\$29,636.16	\$1,441.00	\$46,112.00
D2241, SDR-26 (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT,		4						
BACKFILL. ETC.) 9. REMOVE PLUG AND CONNECT TO EXISTING 8" STUB	EA	5	\$2,453.00	\$12,265.00	\$765.13	\$3,825.65	\$1,197.00	\$5,985.00
10. TRENCH SAFETY	LF	1953		\$3,906.00	\$0.79	\$1,542.87	\$0.25	\$488.25
11. T.V. TESTING	LF	1953	\$5.00	\$9,765.00	\$1.98	\$3,866.94	\$3.00	\$5,859.00
SUBTOTAL BASE BID SECTION B - PHASE 4 - SANITARY SEWER SYSTEM:	=		,,,,,,	\$303,341.00		\$268,553.83		\$310,895.25
SOUTOTAL DASE DID SECTION DE THASE 4 SANITANT SEWEN STSTEM.	4			7303,341.00		7200,555.05		7310,033.23
	`	V /						

NTD720-0083

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION, PHASE 4

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS AUGUST 26, 2025
LIA ENGINEERING, INC.

S.BOOTH 8/26/2025 NTD720-0083

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) ACADIA	A SERVICES LLC	2) EIII UND	DERGROUND, LLC	3) BLUE STAI	R UTILITIES, LLC
NO. ITEM DESCRIPTION	UN	іт	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION C - PHASE 4 - STORM SEWER SYSTEM:							7	
1. 21" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUI	DES LF	249	\$94.00	\$23,406.00	\$83.51	\$20,793.99	\$94.00	\$23,406.00
EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIO			,	, ,,	,		, , , ,	, ,,
WYES, BENDS, ETC.)	,							
2. 24" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUI	DES LE	392	\$104.00	\$40,768.00	\$92.16	\$36,126.72	\$103.00	\$40,376.00
EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIO	NS,							
WYES, BENDS, ETC.)	•							
3. 30" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUI	DES LE	48	\$124.00	\$5,952.00	\$110.48	\$5,303.04	\$133.00	\$6,384.00
EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIO	NS,							
WYES, BENDS, ETC.)								
4. 42" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUI	DES LE	71	\$191.00	\$13,561.00	\$172.08	\$12,217.68	\$213.00	\$15,123.00
EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIO	NS,							
WYES. BENDS. ETC.)								
5. 6' X 6' R.C.B. (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BAC	CKFILL, LF	64	\$569.00	\$36,416.00	\$473.83	\$30,325.12	\$445.00	\$28,480.00
FITTINGS, JOINTS/CONNECTIONS, WYES, BENDS, ETC.)								
6. 10' STANDARD CURB INLET	E/			\$36,456.00	\$8,898.40	\$53,390.40	\$6,722.00	\$40,332.00
7. 15' STANDARD CURB INLET	E/		1-,-	\$46,620.00	\$11,924.81	\$59,624.05	\$9,393.00	\$46,965.00
8. INLET PROTECTION	E/		\$203.00	\$2,233.00	\$197.45	\$2,171.95	\$200.00	\$2,200.00
9. 4' X 4' MANHOLE	E/		\$5,097.00	\$10,194.00		\$15,176.00	\$4,735.00	\$9,470.00
10. 24" CH-PW-S HEADWALL WITH 30° SKEW, INTEGRATED INTO RETAINI	NG EA	. 1	\$3,078.00	\$3,078.00	\$6,402.40	\$6,402.40	\$1,701.00	\$1,701.00
WALL	EA	. 1	\$4,002.00	\$4,002.00	\$8,661.60	¢9.661.60	\$1,701.00	\$1,701.00
11. 30" CH-PW-0 HEADWALL INTEGRATED INTO RETAINING WALL 12. 6'X6' PW-1 WINGWALL WITH 2.22' EXTENDED CURB	E/		\$38,337.00	\$38,337.00	\$64,496.80	\$8,661.60 \$64,496.80	\$49,422.00	\$49,422.00
13. 6'X6' PW-1 WINGWALL WITH 3.49' EXTENDED CURB	E/		\$44,239.00	\$44,239.00	\$79,098.40	\$79,098.40	\$49,422.00	\$49,422.00
14. CONNECT TO EXISTING LINE	E/		\$2,668.00	\$5,336.00	\$778.50	\$1,557.00	\$1,701.00	\$3,402.00
15. REMOVE 42" SLOPED END HEADWALL	E/		\$1,477.00	\$1,477.00	\$978.50	\$978.50	\$677.00	\$677.00
16. REMOVE GROUTED ROCK RIP RAP	S)		\$12.00		\$45.83	\$1,512.39	\$40.00	\$1,320.00
17. NCTCOG 803.3 TYPE A, 12" GROUTED ROCK RIP RAP 18" DEEP	S\		\$165.00	\$8,085.00	\$102.03	\$4,999.47	\$170.00	\$8,330.00
18. NCTCOG 803.3 TYPE A, 18" GROUTED ROCK RIP RAP 18" DEEP	S		\$171.00		\$128.23	\$33,724.49	\$180.00	\$47,340.00
19. TRENCH SAFETY	LF		\$1.00		\$0.78	\$642.72	\$0.25	\$206.00
SUBTOTAL BASE BID SECTION C - PHASE 4 - STORM SEWER SYSTEM:	-	02.	, , , , ,	\$366,353.00	\$0.70 <u></u>	\$437,202.72	V0.23	\$376,257.00
		•		, ,		, .		, ,
BASE BID SECTION D - MISCELLANEOUS ITEMS:		_						
1. PERFORMANCE AND PAYMENT BOND	LS	_1	\$17,000.00	\$17,000.00	\$17,750.00	\$17,750.00	\$17,171.75	\$17,171.75
2. MAINTENANCE BOND - 2 YR, 100%	LS	1	\$1,000.00	\$1,000.00	\$2,875.00	\$2,875.00	\$11,000.00	\$11,000.00
SUBTOTAL BASE BID SECTION D - MISCELLANEOUS ITEMS:				\$18,000.00		\$20,625.00		\$28,171.75
ALTERNATE I - UNCLASSIFIED EXCAVATION ITEMS: ALTERNATE I - UNCLASSIFIED								
UNCLASSIFIED EXCAVATION - STREET & CULVERT CROSSING	C)		\$10.00	\$32,430.00	\$4.75_	\$15,404.25	\$15.00	\$48,645.00
SUBTOTAL ALTERNATE I - UNCLASSIFIED EXCAVATION ITEMS: ALTERNATE I - U	JNCLASSIFIE	D EXCAVATION ITE	:MS:	\$32,430.00		\$15,404.25		\$48,645.00
ALTERNATE II - WATER DISTRIBUTION SYSTEM ITEMS: ALTERNATE II - WATER	DICTRIBUTE	AN CHETCHA ITCHAC						
				¢220.00	617.50	¢250.00	¢20.00	¢c00.00
4" PVC IRRIGATION SLEEVES 6" PVC IRRIGATION SLEEVES	LF	20 20	\$16.00 \$24.00	\$320.00 \$480.00	\$17.50 \$20.00	\$350.00 \$400.00	\$30.00 \$35.00	\$600.00 \$700.00
SUBTOTAL ALTERNATE II - WATER DISTRIBUTION SYSTEM ITEMS: ALTERNATE	II - WATER I			\$800.00	\$20.00_	\$750.00	\$55.00	\$1,300.00
A				2000,000		\$750.00		\$1,300.00
ALTERNATE III - UTILITY MISCELLANEOUS ITEMS ALTERNATE III - UTILITY MISC	ELLANEOUS	ITEMS						
1. GUARD FENCE (GF(31)-19)	LF		\$235.00	\$50,760.00	\$125.00	\$27,000.00	\$250.00	\$54,000.00
2. GUARD FENCE DOWNSTREAM ANCHOR TERMINAL (GF(31) DAT-19)	. E.A		· ·	\$5,000.00	\$7,500.00	\$15,000.00	\$3,250.00	\$6,500.00
3. SINGLE GUARDRAIL TERMINAL (SGT(12S)31-18)	EA	. 2	\$2,835.00	\$5,670.00	\$5,000.00	\$10,000.00	\$3,250.00	\$6,500.00
SUBTOTAL ALTERNATE III - UTILITY MISCELLANEOUS ITEMS ALTERNATE III - U	TILITY MISCE	LLANEOUS ITEMS		\$61,430.00	-	\$52,000.00	_	\$67,000.00

BID TABULATION FOR:

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION, PHASE 4

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS AUGUST 26, 2025
LIA ENGINEERING, INC.
S.BOOTH
8/26/2025
NTD720-0083

				1) ACADIA SERVICES LLC		2) EIII UNDERGROUND, LLC		3) BLUE STAR UTILITIES, LLC		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
BID SUMMARY							7,	7		
BASE BID SECTION A	- PHASE 4 - WATER DISTRIBUTION SYSTEM:				\$386,274.00		\$366,254.53		\$384,676.00	
BASE BID SECTION B	- PHASE 4 - SANITARY SEWER SYSTEM:				\$303,341.00		\$268,553.83		\$310,895.25	
BASE BID SECTION C	- PHASE 4 - STORM SEWER SYSTEM:				\$366,353.00		\$437,202.72		\$376,257.00	
BASE BID SECTION D	- MISCELLANEOUS ITEMS:				\$18,000.00		\$20,625.00		\$28,171.75	
TOTAL AMOUNT BA	SE BID				\$1,073,968.00		\$1,092,636.08		\$1,100,000.00	
ALTERNATE ITEMS S	UBTOTALS:						,			
ALTERNATE I - UNCL	ASSIFIED EXCAVATION ITEMS:				\$32,430.00		\$15,404.25		\$48,645.00	
ALTERNATE II - WAT	ER DISTRIBUTION SYSTEM ITEMS:				\$800.00		\$750.00		\$1,300.00	
ALTERNATE III - UTIL	ITY MISCELLANEOUS ITEMS				\$61,430.00		\$52,000.00		\$67,000.00	

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS AUGUST 26, 2025
LIA ENGINEERING, INC.
S.BOOTH
8/26/2025
NTD720-0083

BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 1. 8" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES, LF 3600 \$72.00 \$259,200.00 \$49,70 \$ FINTINGS, PLUGS, BEDDING, ETC.) 2. 8" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS, EA 11 \$3,750.00 \$41,250.00 \$2,560.00 ETC.) 3. 1" SINGLE WATER SERVICE (SHORT SIDE) EA 48 \$1,000.00 \$48,000.00 \$1,210.00 4. 1" SINGLE WATER SERVICE (LONG SIDE) EA 45 \$1,250.00 \$56,250.00 \$1,440.00 5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) EA 9 \$8,200.00 \$73,800.00 \$	AL UNIT COST TOTAL \$178,920.00 \$51.80 \$186,480.00							
1. 8" C-900 DR-18 PVC WATERMAIN (INCLUDES ALL TEES, BENDS, CROSSES, LF 3600 \$72.00 \$259,200.00 \$44,70 \$5 FITTINGS, PLIGS, BEDDING, ETC.] 2. 8" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS, EA 11 \$3,750.00 \$41,250.00 \$2,560.00 ETC.) 3. 1" SINGLE WATER SERVICE (SHORT SIDE) EA 48 \$1,000.00 \$48,000.00 \$1,210.00 \$1,210.00 \$1.10 \$	\$179,020,00 \$E1.90 \$496,490,00	TOTAL	UNIT COST	TOTAL	UNIT COST	QTY	UNIT	NO. ITEM DESCRIPTION
FITTINGS, PLUGS, BEDDING, ETC.)	\$170 020 00 \$100 doc 400 00							
2. 8" GATE VALVE AND BOX (INCLUDES CONCRETE BLOCKING, EMBEDMENTS, EA 11 \$3,750.00 \$41,250.00 \$2,560.00 ETC.) 3. 1" SINGLE WATER SERVICE (SHORT SIDE) EA 48 \$1,000.00 \$48,000.00 \$1,210.00 \$4.1" SINGLE WATER SERVICE (LONG SIDE) EA 45 \$1,250.00 \$56,250.00 \$1,440.00 \$5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) EA 9 \$8,200.00 \$73,800.00 \$73,300.00 \$2,700.00 \$2,700.00 \$7. CONNECT TO EXISTING 8" WATERMAIN EA 4 \$2,650.00 \$10,600.00 \$1,580.00 \$2,700.00 \$1.8" RENCH SAFETY LF 3600 \$3.25 \$11,700.00 \$0.10 \$1.500.00 \$	\$170,520.00 \$31.60 \$186,480.00	\$178,920.0	\$49.70	\$259,200.00	\$72.00	3600	LF	
ETC.) 3. 1" SINGLE WATER SERVICE (SHORT SIDE) 4. 1" SINGLE WATER SERVICE (CLONG SIDE) 5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) 6. 2" IRRIGATION WATER SERVICE 6. 2" IRRIGATION WATER SERVICE 7. CONNECT TO EXISTING 8" WATERMAIN 6. 4 9 \$8,200.00 \$73,800.00 \$73,00.00 7. CONNECT TO EXISTING 8" WATERMAIN 6. 4 4 \$2,550.00 \$10,600.00 \$1,580.00 8. TRENCH SAFETY 6. 7 3600 \$3.2.5 \$11,700.00 \$11,580.00 8. TRENCH SAFETY 9. PRESSURE TESTING AND CHLORINATION 1. F 3600 \$2.00 \$57,200.00 \$1.00 SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 8. P. P. C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 547 \$63.00 \$34,461.00 \$71.50 EMBEDMENT, BACKFILL, ETC.) 7. P. V. C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 7. P. V. C. MASTEWAND CALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 8. D. C. D. DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$50.00 F. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,750.00 \$1,000.00 F. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,000.								
3. 1" SINGLE WATER SERVICE (SHORT SIDE) 4. 1" SINGLE WATER SERVICE (LONG SIDE) 5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) 6. 2" IRRIGATION WATER SERVICE 6. 2" IRRIGATION WATER SERVICE 7. CONNECT TO EXISTING 8" WATERMAIN 8. TRENCH SAFETY 1. F 3600 9. PRESSURE TESTING AND CHLORINATION 9. PRESSURE TESTING AND CHLORINATION 1. F 3600 1. SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D304, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D304, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. P. C., ASTM D304, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. C. C. ASTM D304, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 1. P. P. C. D. SPS.00 1. P. P. C. D. SPS.00 1. P. P. C. D. SPS.00 1. SPS.00	\$28,160.00 \$2,449.00 \$26,939.00	\$28,160.0	\$2,560.00	\$41,250.00	\$3,750.00	11	EA	,
4. 1" SINGLE WATER SERVICE (LONG SIDE) 5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) 6. 2" IRRIGATION WATER SERVICE 6. A 2 S4,500.00 7. CONNECT TO EXISTING 8" WATERMAIN EA 4 S2,650.00 8. TRENCH SAFETY IF 3600 8. TRENCH SAFETY IF 3600 8. TRENCH SAFETY IF 3600 S2,700.00 50.10 SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: BASE BID SECTION B - PHASE 4 - SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE 4. 4.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 S8,500.00 4. 4.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, RAIN PAN. ETC.) 5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,440.00 \$1,440.00 \$2,700.00 \$1,440.			4		4			
5. FIRE HYDRANT ASSEMBLY (INCLUDES LEAD, TEE, VALVE AND BOX) EA 9 \$8,200.00 \$73,800.00 \$7,300.00 6. 2" IRRIGATION WATER SERVICE EA 2 \$4,500.00 \$9,000.00 \$2,700.00 \$2,	\$58,080.00 \$864.00 \$41,472.00							, ,
6. 2" IRRIGATION WATER SERVICE	\$64,800.00 \$1,438.00 \$64,710.00			. ,				
7. CONNECT TO EXISTING 8" WATERMAIN 8. TRENCH SAFETY 9. PRESSURE TESTING AND CHLORINATION SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 8. TRENCH SAFETY SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5. 5. S8,500.00 \$9,750.00 \$1,600.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,500.00 \$1,000.00	\$65,700.00 \$8,231.00 \$74,079.00					-		
8. TRENCH SAFETY 9. PRESSURE TESTING AND CHLORINATION 1. EF 3600 \$3.25 \$11,700.00 \$0.10 SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 8. TP.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 547 \$63.00 \$34,461.00 \$71.50 EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5" DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95" EA 1 \$1,750.00 \$51,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$5,400.00 \$2,385.00 \$4,770.00				. ,			
9. PRESSURE TESTING AND CHLORINATION	\$6,320.00 \$2,277.00 \$9,108.00					•		
SUBTOTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM: 1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 547 \$63.00 \$34,461.00 \$71.50 EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING S' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.0	\$360.00 \$0.10 \$360.00			. ,				
BASE BID SECTION B - PHASE 4 - SANITARY SEWER SYSTEM: 1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 547 \$63.00 \$34,461.00 \$71.50 EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5" DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95" EA 1 \$1,750.00 \$1,750.00 \$1,000.00 \$	\$4,680.00 \$2.40 \$8,640.00 \$412,420.00 \$416,558.00		\$1.30		\$2.00_	3600	LF	
1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 547 \$63.00 \$34,461.00 \$71.50 EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5" DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95" EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$412,420.00 \$416,558.00	\$412,420.0		\$517,000.00				SUBTUTAL BASE BID SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM:
1. 8" P.V.C., ASTM D3034, SDR-26 SANITARY SEWER (INCLUDES EXCAVATION, LF 547 \$63.00 \$34,461.00 \$71.50 EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5" DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95" EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$								DACE DID CECTION D. DUACE A. CANITADY CENTER CYCTEM.
EMBEDMENT, BACKFILL, ETC.) 2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5" DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95" EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$39,110.50 \$72.80 \$39,821.60	¢20.110.E	671 50	\$24.461.00	¢62.00	E 47	16	
2. 8" P.V.C., ASTM D3034, SDR-35 SANITARY SEWER (INCLUDES EXCAVATION, LF 1406 \$61.00 \$85,766.00 \$51.00 EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$33,110.50 \$72.80 \$33,021.60	\$59,110.5	571.50	\$34,401.00	\$63.00	547	LF	
EMBEDMENT, BACKFILL, ETC.) 3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE 4. 4.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,580.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0" DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5" DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95" EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$71,706.00 \$59.40 \$83,516.40	¢71 706 (¢E1 00	COE 766.00	¢61.00	1406	16	
3. PVC ENCASEMENT PIPE FOR 8" SANITARY SEWER LINE LF 20 \$95.00 \$1,900.00 \$90.00 4. 4.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 5 \$8,500.00 \$42,500.00 \$5,730.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$71,700.00 \$35.40 \$65,310.40	\$71,700.0	\$31.00	\$83,700.00	\$01.00	1400	LF	
4. 4.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$1,800.00 \$119.50 \$2,390.00	\$1 200 0	\$90.00	\$1,900,00	\$05.00	20	16	
MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$28,650.00 \$6,048.00 \$30,240.00							
RAIN PAN. ETC.] 5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, EA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.] 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$25,050.00 \$0,046.00 \$50,240.00	720,030.0	\$3,730.00	\$42,300.00	\$8,500.00	3		
5. 5.0' DIAMETER MANHOLE (ALL DEPTHS, INCLUDES EXCAVATION, BACKFILL, BA 1 \$9,750.00 \$9,750.00 \$10,400.00 MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$								
MANHOLE FRAME, GASKETED COVER, MANHOLE INSERTS, FALSE BOTTOM, RAIN PAN. ETC.) 6. ADJUST EXISTING S' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$10,400.00 \$10,563.00 \$10,563.00	\$10,400.0	\$10,400,00	\$9.750,00	\$9.750.00	1	FΑ	
RAIN PAN. ETC.) 6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$10,505.00 \$10,505.00 \$10,505.00	\$10,100.0	\$10, 100.00	\$3,730.00	\$3,730.00	-		
6. ADJUST EXISTING 5' DIAMETER MANHOLE RIM APPROXIMATELY (+)0.95' EA 1 \$1,750.00 \$1,750.00 \$1,000.00 7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$					_			·
7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS, EA 61 \$975.00 \$59,475.00 \$1,960.00 \$	\$1,000.00 \$2,148.00 \$2,148.00	\$1.000.0	\$1,000.00	\$1,750.00	\$1,750.00	1	FA	
	7-/	+-,	7-,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,,,,,,,,	_		· · · · · · · · · · · · · · · · · · ·
	\$119,560.00 \$1,489.00 \$90,829.00	\$119.560.0	\$1,960.00	\$59,475,00	\$975.00	61	EA	7. 4" P.V.C. WASTEWATER SERVICE LINES, ASTM D2241, SDR-26 (ALL DEPTHS.
INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, ETC.)	,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, ,	111/				INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, ETC.)
	\$105,280.00 \$1,485.00 \$47,520.00	\$105,280.0	\$3,290.00	\$35,200.00	\$1,100.00	32	EA	
D2241, SDR-26 (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT,		• ,	• •					
BACKFILL FTC.)								, , , , , , , , , , , , , , , , , , , ,
9. REMOVE PLUG AND CONNECT TO EXISTING 8" STUB EA 5 \$1,500.00 \$7,500.00 \$1,200.00	\$6,000.00 \$2,502.00 \$12,510.00	\$6,000.0	\$1,200.00	\$7,500.00	\$1,500.00	_ 5	EA	9. REMOVE PLUG AND CONNECT TO EXISTING 8" STUB
10. TRENCH SAFETY LF 1953 \$3.25 \$6,347.25 \$1.00	\$1,953.00 \$0.60 \$1,171.80	\$1,953.0	\$1.00	\$6,347.25	\$3.25	1953	LF	10. TRENCH SAFETY
11. T.V. TESTING LF 1953 \$3.25 \$6,347.25 \$3.00	\$5,859.00 \$3.50 \$6,835.50	\$5,859.0	\$3.00	\$6,347.25	\$3.25_	1953	LF	11. T.V. TESTING
SUBTOTAL BASE BID SECTION B - PHASE 4 - SANITARY SEWER SYSTEM: \$290,996.50 \$	\$391,318.50 \$327,545.30	\$391,318.5		\$290,996.50	_			SUBTOTAL BASE BID SECTION B - PHASE 4 - SANITARY SEWER SYSTEM:

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS AUGUST 26, 2025 LJA ENGINEERING, INC. S.BOOTH 8/26/2025 NTD720-0083

			4) BCAC L	UNDERGROUND	5) BURNSCO CO	ONSTRUCTION, INC.	6) PCI CON:	STRUCTION
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BASE BID SECTION C - PHASE 4 - STORM SEWER SYSTEM: 1. 21" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS,	LF	249	\$76.00	\$18,924.00	\$83.00	\$20,667.00	\$71.40	\$17,778.60
WYES. BENDS. FTC.) 2. 24" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS,	LF	392	\$86.00	\$33,712.00	\$93.00	\$36,456.00	\$80.90	\$31,712.80
WYES. BENDS. ETC.) 3. 30" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS, WYES. BENDS. ETC.)	LF	48	\$117.00	\$5,616.00	\$118.00	\$5,664.00	\$106.50	\$5,112.00
4. 42" R.C.P., STORM SEWER, ASTM C-76, CLASS III, (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BACKFILL, FITTINGS, JOINTS/CONNECTIONS, WYES. BENDS. ETC.)	LF	71	\$209.00	\$14,839.00	\$189.00	\$13,419.00	\$199.70	\$14,178.70
 6' X 6' R.C.B. (ALL DEPTHS, INCLUDES EXCAVATION, EMBEDMENT, BACKFILI FITTINGS, JOINTS/CONNECTIONS, WYES, BENDS, ETC.) 	., LF	64	\$675.00	\$43,200.00	\$520.00	\$33,280.00	\$489.60	\$31,334.40
6. 10' STANDARD CURB INLET 7. 15' STANDARD CURB INLET	EA EA	6 5	\$7,200.00 \$8,500.00	\$43,200.00 \$42,500.00	\$7,000.00 \$9,600.00	\$42,000.00 \$48,000.00	\$6,708.00 \$9,965.00	\$40,248.00 \$49,825.00
8. INLET PROTECTION 9. 4' X 4' MANHOLE	EA EA	11 2	\$1,250.00 \$5,500.00	\$13,750.00 \$11,000.00	\$300.00 \$6,800.00	\$3,300.00 \$13,600.00	\$330.00 \$6,366.00	\$3,630.00 \$12,732.00
 24" CH-PW-S HEADWALL WITH 30° SKEW, INTEGRATED INTO RETAINING WALL 	EA	1	\$6,000.00	\$6,000.00	\$8,200.00	\$8,200.00	\$7,458.00	\$7,458.00
11. 30" CH-PW-0 HEADWALL INTEGRATED INTO RETAINING WALL 12. 6'X6' PW-1 WINGWALL WITH 2.22' EXTENDED CURB	EA EA	1 1	\$7,500.00 \$15,000.00	\$7,500.00 \$15,000.00	\$8,400.00 \$64,000.00	\$8,400.00 \$64,000.00	\$9,942.00 \$123,629.00	\$9,942.00 \$123,629.00
13. 6'X6' PW-1 WINGWALL WITH 2.22 EXTENDED CORB	EA	1	\$17,500.00	\$17,500.00	\$68.000.00	\$68,000.00	\$125,029.00	\$125,025.00
14. CONNECT TO EXISTING LINE	EA	2	\$2,000.00	\$4,000.00	\$700.00	\$1,400.00	\$2,100.00	\$4,200.00
15. REMOVE 42" SLOPED END HEADWALL	EA	1	\$2,500.00	\$2,500.00	\$1,100.00	\$1,100.00	\$2,100.00	\$2,100.00
16. REMOVE GROUTED ROCK RIP RAP	SY	33	\$50.00		\$16.00	\$528.00	\$27.00	\$891.00
17. NCTCOG 803.3 TYPE A, 12" GROUTED ROCK RIP RAP 18" DEEP	SY	49	\$165.00	\$8,085.00	\$160.00	\$7,840.00	\$169.00	\$8,281.00
18. NCTCOG 803.3 TYPE A, 18" GROUTED ROCK RIP RAP 18" DEEP	SY	263	\$205.00		\$160.00	\$42,080.00	\$192.00	\$50,496.00
19. TRENCH SAFETY	LF	824	\$3.25	\$2,678.00	\$0.50	\$412.00	\$0.20	\$164.80
SUBTOTAL BASE BID SECTION C - PHASE 4 - STORM SEWER SYSTEM:				\$345,569.00		\$418,346.00		\$549,454.30
BASE BID SECTION D - MISCELLANEOUS ITEMS:								
PERFORMANCE AND PAYMENT BOND	LS	1	\$17,500.00	\$17,500.00	\$6,000.00	\$6,000.00	\$19,710.00	\$19,710.00
2. MAINTENANCE BOND - 2 YR, 100% SUBTOTAL BASE BID SECTION D - MISCELLANEOUS ITEMS:	LS		\$17,500.00	\$17,500.00 \$35,000.00	\$18,000.00	\$18,000.00 \$24,000.00	\$22,630.00	\$22,630.00 \$42,340.00
				4-0,000		7-7		+ 12,010101
ALTERNATE I - UNCLASSIFIED EXCAVATION ITEMS: ALTERNATE I - UNCLASSIFIED EX	CAVATION	ITEMS:						
1. UNCLASSIFIED EXCAVATION - STREET & CULVERT CROSSING	CY	3243	\$0.00	\$0.00	\$20.00	\$64,860.00	\$17.00	\$55,131.00
SUBTOTAL ALTERNATE I - UNCLASSIFIED EXCAVATION ITEMS: ALTERNATE I - UNCL	ASSIFIED EX	CAVATION ITE		\$0.00		\$64,860.00		\$55,131.00
ALTERNATE II - WATER DISTRIBUTION SYSTEM ITEMS: ALTERNATE II - WATER DIST	RIBUTION S	YSTEM ITEMS:						
1. 4" PVC IRRIGATION SLEEVES	LF	20	\$30.00	\$600.00	\$18.00	\$360.00	\$20.00	\$400.00
2. 6" PVC IRRIGATION SLEEVES	LF	20	\$45.00	\$900.00	\$20.00	\$400.00	\$25.00	\$500.00
SUBTOTAL ALTERNATE II - WATER DISTRIBUTION SYSTEM ITEMS: ALTERNATE II - W	ATER DIST	RIBUTION SYST		\$1,500.00		\$760.00		\$900.00
ALTERNATE III - UTILITY MISCELLANEOUS ITEMS ALTERNATE III - UTILITY MISCELLA	NEOLIS ITE	MS						
1. GUARD FENCE (GF(31)-19)	LF	216	\$0.00	\$0.00	\$130.00	\$28,080.00	\$335.00	\$72,360.00
2. GUARD FENCE DOWNSTREAM ANCHOR TERMINAL (GF(31) DAT-19)	EA	210	\$0.00	\$0.00	\$2,800.00	\$5,600.00	\$5,000.00	\$10,000.00
3. SINGLE GUARDRAIL TERMINAL (SGT(12S)31-18)	EA	2	\$0.00	\$0.00	\$5,900.00	\$11,800.00	\$5,000.00	\$10,000.00
SUBTOTAL ALTERNATE III - UTILITY MISCELLANEOUS ITEMS ALTERNATE III - UTILITY	MISCELLA	NEOUS ITEMS	• • • • •	\$0.00	· · · · · · · · · · · · · · · · · · ·	\$45,480.00	· · · · · · · · · · · · · · · · · · ·	\$92,360.00

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE UTILITY IMPROVEMENTS FOR REUNION, PHASE 4

ROLLING V RANCH WATER CONTROL AND IMPROVEMENT DISTRICT NO. 1 OF WISE COUNTY CITY OF NEWARK E.T.J., WISE COUNTY, TEXAS AUGUST 26, 2025
LIA ENGINEERING, INC.
S.BOOTH
8/26/2025
NTD720-0083

				4) BCAC	UNDERGROUND	5) BURNSCO	O CONSTRUCTION, INC.	6) PCI CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
BID SUN	IMARY						1	7	
BASE BID	SECTION A - PHASE 4 - WATER DISTRIBUTION SYSTEM:				\$517,000.00		\$412,420.00		\$416,558.00
BASE BID	SECTION B - PHASE 4 - SANITARY SEWER SYSTEM:				\$290,996.50		\$391,318.50		\$327,545.30
BASE BID	SECTION C - PHASE 4 - STORM SEWER SYSTEM:				\$345,569.00		\$418,346.00		\$549,454.30
BASE BID	D SECTION D - MISCELLANEOUS ITEMS:				\$35,000.00		\$24,000.00		\$42,340.00
TOTAL A	MOUNT BASE BID				\$1,188,565.50		\$1,246,084.50		\$1,335,897.60
ALTERNA	ATE ITEMS SUBTOTALS:								
ALTERNA	ATE I - UNCLASSIFIED EXCAVATION ITEMS:				\$0.00		\$64,860.00		\$55,131.00
ALTERNA	ATE II - WATER DISTRIBUTION SYSTEM ITEMS:				\$1,500.00		\$760.00		\$900.00
ALTERNA	ATE III - UTILITY MISCELLANEOUS ITEMS				\$0.00		\$45,480.00		\$92,360.00